Kaartjes les 14:

	2 / 10 = 
	4 / 100 =
	10 / 1000 = 

	9 / 10 = 
	35 / 100 =
	366/1000 = 

	11 / 20 = 
	8 / 40 = 
	6/50 = 

	12 / 20 = 
	150 / 1000 = 
	3 / 4 = 

	2 / 8 = 
	1 / 5 =
	6/ 25 = 

	1/8 = 
	30/120 = 
	5 / 125 =

	2 / 5 van 250 = 
	1/3 van 630 = 
	5/6 van 246 = 

	½ van 120 =
	1/7 van 490 = 
	2/3 van 330 = 

	1/8 van 1000=
	¾ van 1000 = 
	¾ van 100 = 

	2/6 van 486 =
	¼ van 4448 =
	1/10 van 200 = 

	1/10 van 2000 = 
	1/1000 van 2000 =
	3/9 van 270 = 

	2/9 van 180 = 
	4/7 van 294 = 
	5/8 van 840 =

	3/7 van 210 = 
	2/2 van 150 = 
	3/3 van 150 = 

	9/10 van 910=
	½ van 38=
	1/3 van 630 =

	2/7 van 154 = 
	1/7 van 154=
	1/3 van 18 =

	2/100 van 150= 
	6/8 van 160 =
	2/5 van 2500 = 











	2 / 10 = 0,2
	4 / 100 =0,04
	10 / 1000 = 0,010

	9 / 10 = 0,9
	35 / 100 = 0,35
	366/1000 = 0,366

	11 / 20 = 0,55
	8 / 40 = 0,2
	6/50 = 0,12

	12 / 20 = 0,6
	150 / 1000 = 0,150
	3 / 4 = 0,75

	2 / 8 = 0,250
	1 / 5 = 0,2
	6/ 25 = 0,24

	1/8 = 0,125
	30/120 = 0,25
	5 / 125 = 0,040

	2 / 5 van 250 = 100 
	1/3 van 630 = 210
	5/6 van 246 = 205

	½ van 120 =60
	1/7 van 490 = 70
	2/3 van 330 = 220

	1/8 van 1000= 125
	¾ van 1000 = 750
	¾ van 100 = 75

	2/6 van 486 = 162
	¼ van 4448 = 1112
	1/10 van 200 = 20

	1/10 van 2000 =200 
	1/1000 van 2000 = 2
	3/9 van 270 =90 

	2/9 van 180 = 40
	4/7 van 294 = 168
	[bookmark: _GoBack]5/8 van 840 =525

	3/7 van 210 = 90
	2/2 van 150 = 150
	3/3 van 150 = 150

	9/10 van 910= 819
	½ van 38= 19
	1/3 van 630 = 210

	2/7 van 154 = 44
	1/7 van 154= 22
	1/3 van 18 =6

	2/100 van 150= 3
	6/8 van 160 =120
	2/5 van 2500 = 1000






